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AW]V = AU]V = C\/(Th — Tc) >0 (25)

00000000000000000000000AQ, 0000000000 —AQ;;;
00000000000 —AW =AQ,+AQ; 0000000000000 (17)0(23)
00 Va/Vo=Vy/Vi0OO Va/V, = V3/V; 0000 (16)0(22) OO

AQr n AQrr
1y T,

=0 (26)

00000000000O0000 (26) 000000000000 ODOOOOOOo
goobbobdgbbooboooboboobboobboobboobbbooboon
gooooobobobbbbobobobobbobbbbbboboooooououoooooon
goo

00000000 000ooo0o0oooo0oooooooo(ooooood
0)0000000000000000000000D (CoDODOO18480)0

//00000//(0000000 HomeOO)

00000000000000 (Carnot, Nicolas Leonard: 1796 0 1832) 00 0000000000000
000 20000000000000000000000000000000000000000000
0000000000 LNM.OOOOOOOO 181400000000000000000000000
240000000000000000000000000000000000000000000000
00000000000000000000000000000000 (1824)000000000000
00000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000000
00000000000000000 (00000000000000000)000000000000

25



0000000000o0o0U00o00ooo0U00o0o0Uo0o0ooO0oUo0oUOooOoDoUooUooUOO (oo
00000)0000000000000000000000000000O000ODO0O00000O0O 200
ocoooooooooooooboboOooooooooD BE.ODODOOODOODOOODOOOODOOOO

[DO000000)<39—41 >

(26) 000000000000000000000000000000000000
000000000 (0000000)0AQOOOO000000O00OOOO0O00000
000000000000

O0000000ooooo((@ooooo)Od

fégT”:o (27)

guoodgoooooooooooobobbbbbbbbboooooooooada
goddoooooobobobobbn
25@1"61}
/ (28)
1

T
0000000000000 000D00O000 6@,/ 0000000000000

gogoboobbbbbbbbbbbbbbddooiooooooooooooon
000000000000000000000000dédQ OO0 /TOOODODOODOO
Q.,/T 00000000000 ODDOOODOOOOO

000000 (entropy)—O0 0000

. 5@7’6’[} . 1 5@7‘6’[}
as = =, Sy &_A = (29)

[Do0O0O0O0oo0oooooo]
0000000000000000000000
Vi
—NM:N@G%—QNW;:A@+AQM (30)

1

000000000 (effciency) 00000000 OOOOOOOOOOOOOODOOO
HEN

y IAW]_ AQr - AQuy
0C1 AQr
00000000000 (16)0 (22) 0000

(31)

T, —T. T.
= =1-—. 32
U T, T, (32)

gboboboooobbbooobbobboooobobobuooonooon

26



23 JO0o0oood

(0000000000000 000]<41 >
00000200000000000000000C0ODOO (booooDOoDoOOOO
0)00ooooooooog

gboobooz200

l.00ooOoOoOoOoOoOoOoOoOoOOOUOOOOODODOODODODO (ODDODOO
O0o00o0o0)ooooooogd

2. 00000oboboooobbooobobbuooobbbooobbbooOon

. 02000000000000000000DLDODDODUOOUOOOUOOOB
goboboogobbbuooobbobooooooo

203 0000bb0o0obooobobbobobro2b0000bobo0obbooboban
gbldbboobodgboobodoboobboobobooobboooboobobon
gobobobobboogogoooob2.0bbbboodooooboboobboboooon
gbogbobodbogbobuobuodgboobbooobbodgboobobooboon
gobooo

000000000 (26)000000000000DO (12)00000O0DOOoO0obooOo
000000 (Doooooooon)

AQr  AQur _

0 33
T, T, ° (33)
00000000000000 (290000
0Q _ 0Qrey
— < =dS 34
T - T (34)

[00000000000]<41 >
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du(P,T) = — <3(P0, Ty)ks + kpIn [(%)5/2 (%)D dT + %dP. (87)

dT04dPO000 0000000 0ODOOODOOOOODOODOOO (Py,Ty) — (P, T) —
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